Current affairs -october 2019-11-october-2019
Name the scheme that Gover nment of India haslaunched which isaimed at zer o preventable maternal and new-born
deathsin India.

Al SUMAN Scheme

Bl kuUsUM Scheme

C| MADHU Scheme

Dl MATRITVA Scheme
Answer : A

Who among the following is Science and Technology Minister who has launched Gagan Enabled Mariners
Instrument for Navigation and Information (GEMINI) system which is a satellite-based disaster warning device.
A

Arjun Munda
B br. Harsh Vardhan
C DV Sadananda Gowda
DI prakash Javadekar
Answer : B
Planet Saturn with atotal of 82 moons has overtaken Planet Jupiter with ------------ asthe planet with most moons.
- 77 moons
Bl 78 moons
€ 79 moons
D 80 moons
Answer : C

With which scheme ? Cabinet recently relaxed therequirement of Aadhaar Card seeded data to avail of the benefits.

Al Pradhan Mantri Jan Arogya Y ojana (PMJAY)
Bl Pradhan Mantri Shram Y ogi Maan-dhan (PM- SY M)
= Pradhan Mantri Awas Y ojana (PMAY)
D] Pradhan Mantri Kisan Samman Nidhi (PM-Kisan)
Answer : D
World Sight Day is celebrated on which of the following dates ?
Al 10-0ct
Bl 11-0ct
€ 120a
Dl 13.0ct
Answer : A
Who has been appointed as L okpal of Punjab?
Al satish Kumar Mittal
= Vinod Kumar Sharma
€| Dilip B Bhosdle
o Pradip Kumar

Answer : B



Which of the following companys M utual Fund has been renamed as Nippon India Mutual Fund (NIMF)?

Al AdityaBirla

B Wipro

c Reliance

Dl tATA

Answer : C

Who among the following has become the 1st female player to complete 20 yrsin international cricket
Al LisaSthalekar

B Veda Krishna Murthy
c Jhulan Goswami

Dl Mithali Rqj
Answer : D

Name the theme of the 2019 edition of World Mental Health Day (WMHD)?
A Mental Health Promotion and Suicide

Dignity in Mental Health

c Living with Schizophrenia

D Mental Health and order adults

Answer : A
For discovery in which field?The 2019 Nobel prizein Chemistry has been awar ded.

A Cryo -electron Microscopy

Lithium -ion batteries

@)

Directed evolution of Enzymes

O

Phage displayof peptides and antibodies

Answer : B



